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qa= (7897 :

(1) gt gv7 Sifard §

(ii) 97 §& 1 T 10 3T J9% 597 T& 3% F 8 | JIF J97 & I 20 Vi)
T 3% &t g TR |

(iii) 99 G 11 G 20 T J9F 597 & 3iF # & | 9% 97 F I 40 Vi)
g sifyrs &t g TRy |

(iv) ¥99 & 21 G 80 ¥ J9%F J97 A 3% F 8 | J9% F97 & 3N
100 vl @ 3ifr T8 g =Ry |

(v) I G 31 § 35 ¥ J9F J99 BT 3F FE | FIF ¥A F IH
150 /=) @ 3ifer 7@ g =Ry |

(vi)  ¥¥9 GEIT 35 HAFT W EIRT & | 3T 79 II-YaH & Ay |

General Instructions :

(1) All questions are compulsory.

(ii)  Questions number 1 to 10 are of one mark each. The answers to
these questions should not exceed 20 words each.

(iti)) Questions number 11 to 20 are of two marks each. The answers to
these questions should not exceed 40 words each.

(iv) Questions number 21 to 30 are of four marks each. The answers to
these questions should not exceed 100 words each.

(v) Questions number 31 to 35 are of six marks each. The answers to
these questions should not exceed 150 words each.

(vi) Question number 35 is based on Map. Write the answer in your
Answer-Book.

1. 39T Wl g @il ©H ARy L1
E@W@Wﬁ?ﬁwéamsﬁﬁ(w)w % "o w9
§ gEmeR fey T |

Fill in the blanks with appropriate words :

The South Asian Free Trade Agreement (SAFTA) was signed by the
members of in the year

2. anfggE i ¥ T AfwE @ 2
What is meant by ASEAN way ?
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10.

11.

12.

93l

frfafad #99 ¥ =& % fafee

difqgd 99/&9 g 98 2006 d% fOfEER (el 9eR) & 9&@m 92 IR fHar
| ,

Correct and rewrite the following statement :
USSR/Russia used veto power 92 times till 2006.

VF-Ge 9 YR TOWET G H TS RE 8 2

How is balance of power a component of traditional security ?

IRd H Ugel W gAE 69 a9 § g3 4 ?

In which year was the First General Election held in India ?

T Ugadid ST H T e 3Rvd A1 ?

What was the main objective of the Second Five Year Plan ?

Ta-aed ¥ 7 I @ 2
What is meant by defection ?

HH ¥ T UROTH H ToHIGE T @ oG9 & T o ?

The results of which elections were called ‘political earthquake’ ?

foe! 3<ie w91 ?

What was Chipko movement ?

TG TE uifewE & a9 4y T8 o A e gesgar § gasmn @ ?

Whose mediation resolved the ‘Indus River Waters Dispute’ between
India and Pakistan ? :

W g€ & & ¥ Gfgmd 99 @ sd-oreear @ A @ fawmani @ s

HIfST | 2x1=2

Mention any two characteristics of the Soviet economy during the
Cold War days. :

yoq a1 5 fava 95 4 @ % @ @Y F1 oo &g | 2x1=2

Mention the duration of the First and the Second World Wars.
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13. ¥t & U@ I) & & fafEge s el a<9@ & guid § 1 4><%=2
Write the four forms of power which reflect the U.S. hegemony.

14, ‘SR T Hiew w4 a ? | _ P
What was ‘Operation Enduring Freedom’ ?

15. 9-TSHIfq & gREmT IS | | 2
Define Geo-politics.

16. 3 d TSU & W FaRy e f=fafed 1s9 faaa T B
(37) HETEE
(@)  ToRE
Name the original states from which the following states were carved
out :

(a) Meghalaya
(b) Gujarat

17. 9T 99 § o Wl & oo § GER w°d & g # s S | 2

Explain the role played by Sardar Patel in the integration of Princely
States into the Indian Union.

18. 9Rd 7 Wifgyd 99 & Ty dig-auig g iR figar & 9% W w9 R
TR &y ? 1+1=2

When and why did India sign the twenty-years ‘Treaty of Peace and
Friendship’ with the Soviet Union ?

19. YR TER F 59 FEOR § WHIARN F fed § T G GHS T @ T ?
IR T TR W -9 99 s ? | 1+1=2

Which action of the Government of India threatened the fishworkers’
lives in a major way ? Which organisation did they form at the
national level ?
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20.

21.

22.

23.

24.

25.

26.

59/1

oA H TRl 8§ ToHiiae GHIHET R 8 & | 1989 ¥ T8 A &t §&R
3R 1996 H TYH U F TR ¥ qg FEEHROT F R e g 2 1+1=2
Political equations in coalition governments are unstable. How was

this concept reflected in the formation of National Front Government
in 1989 and United Front Government in 1996 ?

‘FE & HERA @’ @ AR FT | 4
Explain the ‘Cuban Missile Crisis’.

FiF TEE H A Qg aens & avie S | 2+2=4

Describe any two major constraints of the U.S. hegemony.

I, ST, YR 99 WY T ¥ ¥ 9% F USH-US ¥ & AW fafay
SR e Y TN wWi-we fEE "en | 4x1=4

Name one country each from the continents of America, Africa, Asia
and Europe, wherein the U.N. ‘“Peacekeeping Operations’ were
administered.

Afyas fadfaar fF9 ToR @R & @9 2 ? = i | 4

How is global poverty a source of insecurity ? Explain.

S gl # T W, I FEE PIE o ®C FE D IuT a6 5N 3

FI9 F gEdT FEU |
; 2+2=4

‘Let the polluters pay.” Support this statement with any two suitable
arguments.

“IEiET F FOT WO TP-UE ok WE W AvEs Iudrmst & owd ¥ e,
217 3@ %99 F U Fiew | 4

“Globalisation has shifted power from nation-states to global
consumers.” Justify the statement.
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97. frefafad @ e R - s 1

&) o RE @ (i) A S E
(@) T e (i) YRdE TEE HEF
(M T eTEEe e (ifi) o Wrefere o
(T T 3wy (iv) 9RdE FHfe el ()
Match the following :
(a) Acharya Narendra Dev (i) Bharatiya Jana Sangh
(b) A.K. Gopalan (ii) Indian National Congress
(¢) Rafi Ahmed Kidwai (iii) Praja Socialist Party
(d) Deen Dayal Upadhyaya (iv) Communist Party of India (M)
28. A T Aifq # fER I fRaed # =we ST | 2+2=4

Explain any two features of Indian nuclear policy.

29. “1960 F TYF H WHAF IS Fal T 2 | =l 9] a& g 39 F99 F WY
T | 4dx1=4

“1960s were labelled as the ‘dangerous decade’.” Explain with the
help of any four arguments.

30. o 1985 ¥ USg et — wiviare Sugia &1 ed R F= a1 ? 4

What was the main outcome of the Rajiv Gandhi — Longowal Accord
in July 1985 ?

31, Y gE WO W F e - e & weifear w®@m g 2 e
I | 6

rgar
IR-TAEE & & Y 9RG & dead Tl H vy Sifs | : 6

What is the relevance of the Non-aligned Movement after the end of
Cold War ? Explain. :

OR

Analyse India’s changing relationship with post-Communist Russia.
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32. WiT Y F s, Torifas qor 9% & § Uw T wuEweh & drea @i
T ST 7 ? 3x2=6

HYAT

FE N &7 T H T AW | IR FE &F N A N TAGE awdl 9
AT WA F A ot R W 3¥ | SRG awdl SR 9SS #1 S gEdl
# 2 A SR T TS smlw v wRmn @ uefa § e faer fewe
¥ | feel €9 af § 9Ra R €9 & Gew e gC € | 99 & Wrifes FEed
iR & W 8 3R ¥E IRa-I9H T § uE ag #eqn g | e # se
SR ATHHRTT F FROT CRET WRY F A 9T Y AR ASEE AT & | T
1991 & 9% ¥ T % & S ASEd §C § |

IR T TT a1 F FAGES 1T FHiC qd ffarad 34 & IW AN

(31) fo7 @ i A aRE aod w@ T R ?

@ R QA RER QW F O AR =2

(@) O 3R ufead & THifas SRl 58 <u & fau % 9 #ieaE &
FT § R H 2 2+2+2=6

Why is the European Union considered a highly influential regional
organisation in the economic, political and military fields ?

OR

No region exists in a vacuum. It is influenced by outside powers
and events no matter how much it may try to insulate itself from
non-regional powers. China and the United States remain key players
in South Asian politics. Sino-Indian relations have improved
significantly in the last ten years, but China’s strategic partnership
with Pakistan remains a major irritant. The demands of development
and globalisation have brought the two Asian giants closer, and their
economic ties have multiplied rapidly since 1991.

Study the paragraph given above carefully and answer the following
questions :

(a)  Which two countries have been referred to as ‘outside powers’ ?
(b)  Which are the two Asian giants and why have they been called so ?

(c) China’s strategic partnership with Pakistan is a major irritant for
which country and why ?
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33. 9d # Tk Ul F wyw o AUE F TH O e # g o oA ?

A9k foRR #, 39 o4 § s9 @ UsHifde Iae 9gl 7 i w2 4+2=6
3Ydr

o TaadiE A F SR st SR Y few ¥ gt fee § R

T T @ AR S | 6

How was ‘one party dominance’ in India different from the ‘one party
system’ of Mexico ? In your opinion, which of the two political systems is

better and why ?
OR
Explain the main arguments in the debate that ensued between

industrialisation and agricultural development at the time of Second Five

Year Plan.

34. UG SIS SYRIGH FT AT 7 THH YOI e HN & 7 AT A @K HA & A€

f5g Awaf=s WG F s@Ee fFm w2 2+2+2=6
T _

1989 # HfeA gaEel R e TSl & dasE, &7 <Al & 99 Uk HeHfq SRl

WM U WA | 39 wewld & fRRl dW fagelt & srenm s | Ix2=6

What was Narmada Bachao Andolan ? What were its main issues ? What

democratic strategy did it use to put forward its demands ?
OR
In the midst of severe competition and many conflicts in 1989, a

consensus appeared to have emerged among most parties. Explain any

three points of consensus.
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35. 1975 % SIS ¥ SR g WA e B oFSRE ok awd F
qH-T famgati & aviq i | : 3+3=6

59/1

IR for U 9RG F qeHiaE
g B TS @E T § | AR

T FHER & e

2

& &9 H 9l Iw-Yfae # fafew

& &1 31e TG & AH

@)
(i1)

(iii)

(iv)

< T @ HI W H oagHd e i 3HH TR TR | -
q T T FAG B Bed a fGuEs # g, R-wEh e aHay §
TS HewEqol 4t |

TS [T S HAW e N agad o Tl el q(r@dﬁﬁ{ﬁiﬂ?ﬁaﬁﬂ‘ﬁm

g TER T8 | : _

& TS @l UeR gARIES e’ & TR a1 | 2+2+1+1=6
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Describe any three weaknesses and any three points of strength of
India’s democracy that came to light during the Emergency of 1975.

OR

ASSEMBLY ELECTIONS

<:~ 1967
S

@
f v
<

In the given political outline map of India, six states have been
indicated by @, ® O O ® and ®. Identify them with the help
of the information given below and write their correct names in your
answer-book alongwith their respective Serial No. and the alphabet
concerned as per the following table :

Sl. No. Alphabet Name of the State

1) Two states where the Congress party got majority and formed the
government.

(i) Two states where the breakaway Congress legislators played an
important role in installing non-Congress governments.

(iii) A state where Congress party did not get majority but formed the
government with the help of other parties.

(iv) The state where ‘Popular United Front’ came into power.
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Note :

(1)
(ii)

(iii)
(iv)
1)
(ii)

(111)
(iv)

Frafafaa g97 d9c gegiT aienaa & [0 J97 G&r 35 & & W E |

The following question is for the Blind Candidates only, in lieu of
Q. No. 35.

1967 & gAmEl § FEg wef # fFad TS § w9 @ 9 ger ?

U8 o T & 9% fAfgu Sl &U9 el qa-a9ga H 9HE] & FHRUT HER
ELEE CT

‘I I, T T ﬁﬁsﬂéﬁwaﬁmﬂ%?

3 U7 & AW fafaw s@f 1967 § YeR FARRE he' T TER TR |

In how many states did the Congress party lose power in the
1967 elections ?

Name any two states where the Congress party was prevented
from forming a government due to defections.

What is meant by the expression ‘Aya Ram, Gaya Ram’ ?

In which state did the ‘Popular United Front’ come into power in
1967 ?



